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1. True/False/Uncertain Questions (16 points)

In this section, write whether each statement is True, False or Uncertain. You should fully
explain your answer, including diagrams where appropriate. Points will be given based on
your explanation.

(a) (4 points) Two firms are producing similar goods, but one enjoys economies of scale and
one has diseconomies of scale. Claim: both firms can have an identical long-run linear

expansion path.
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\Me " }”*'H (b) (4 points) A firm is currently earning negative proﬁt on_each good it produces. Claim:
it is always optimal for this firm to shut down in then.
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(c) (4 points) The market for drug production is characterized by both lengthy periods of
patent protection and the need for FDA permission to market products. Claim: this
market will be characterized by production at the minimum level of average cost in the
long run. '
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(d) (4 points) Cooperative behavior between two oligopolists is impossible if they know that
they will be competing for a limited number of years.
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2. Costs and profit maximization (22 points)

can produc
are no other possible/inpit-output combinations. The.firm’s production function is therefore
given by: :
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The price of input X is 1 dollar per unit. _

: j/) (4 points) Write the firm’s total cost as a function of output.
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(b) (6 points) Find the firm’s supply function y(p). Explain your answer.
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(c) (5 points) Suppose that there are 5 such price-taking firms in the market, and that there
w’ﬁntry. Market demand is given by @p = 100 — 10p. Wl}ag is the equilibrium price

and quantity in this market?
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[, d) (7 points) Suppose now that instead of the 5 firms in part (c) there is actually a single
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monopolist that is five times as large as one of these individual firms. The monopolist’s L( g ( { Z
production function is therefore: ‘ | : 6.7
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Demand is given by @p = 100 — 10p as before. Assume now that entry is once again

impossible. What is the equilibrium price and quantity in this market? Compare this
outcome with the equilibrium in (c) and explain why they are the same / differ.
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\ 3. Monopoly and oligopoly (27 points)

A uniform pricing monopolist has the following cost function and faces the following demand
curve for its product
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(a) (3 points) Find the monopolist quantity (@m), price (Pr), and deadweight loss relative
/] to the perfectly competitive outcome. Draw a diagram labeling the perfectly competitive
[ outcome as A, and the monopolist outcome as B. Be sure to include the marginal cost
and marginal revenue curves in your diagram.
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(b) (6 points) There are two possible scenarios for the monopolist:

(i). The government set a price ceiling of § 40/unit in which case the monopolist does
not invest in any R & D because it is wary of future government regulation.

(ii). There is no government regulation, so then the monopolist invests in R & D which
then changes the cost function so that MC = 0.

Which scenario has higher welfare (ignore the cost of R & D for producer surplus)?
Which scenario do the consumers prefer? Explain.
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(c) (6 pomts) For plan (i), the MR curve features a discontinuity at some Q’. Explain
intuitively why the MR curve has this discontinuity. \ M.ﬁ}(f
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(d) (6 points) In scenario (ii), when MC = 0, the monopolist chooses (Qm, Pm) such that

" s [eR] = WL urgmwwohst ever choose (Qm, Pm) such
that |e?| < 1?7 Explain intuitively
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(e) (6 points) Go back to your solution in (a). Suppose now the government allows one
other identical firm to enter this market and firms compete on quantity. Let x equal the
value of the MR at the monopolist output when there’s only one firm. Claim: If the two
firms each produce half the monopoly quantity, then M R = z for both firms at current
levels of output. Is this claim true, false, or uncertain? Please explain your reasoning.
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4. Trade in sweat-trapping headbands (35 points) | ?g

The U.S. demand for sweat-trapping headbands is summarized by the function gq = 1200 — p, Cz O
where p is the market price of a headband. There are currently 49)identical, proﬁt- ma.xmnzmg

domestic headband producers in the U.S., each with the cost function TC(g) = 72 + 0.5¢°.
U.S. consumers consider domestically produced headbands to be identical to forelgn produce
headbands, and currently have access to a huge supply of foreign-made handbands at a con-

stant price of $10 per band (that is, we can think of the worldwide supply of sweat-trapping {/Z 00
headbands as a horizontal curve at p = 10). : 273
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(a) (5 points) Write down an expression for the supply curve for an individual domestic
headband producer. If there is perfectly free international trade in sweat-trapping head-
3 bands, what will be the market price of a headband in the U.S.? How many headbands { ( g O
will be purchased in the U.S.? How many of those will be imported from abroad? _ Wn
il

/
5 Q= QD ( Oy

- EQd} ({!(m P(Od-u(c'fi W U/Q ?: M( :’q(

® m( = !5 '? 7 ik % \

~J
(R
.
o)
LN

Q’D L\cw‘mm\f ' e 72, ) rg*zﬂ?—g—"pu s
ihﬂuu be g\_{)ﬂl&l ’51 w mulets fl | /L'_ __q_/, + 1601/ q)"?, (Lj‘;“i‘\': TP J'f")

O bﬁ@auﬁ@ Ow{? ﬁ“ fof

u‘?‘ P(Q[{JCQU (s ’2 |
/‘m '{{\/fns M] @° Qu' O{ b:
al l, | OO §VV€4+ J)ﬁn(] /ﬂ@){ (‘J |

TR R el
@ A Pm""‘m*iii SN \a Q{2:»)%({ @’O 5 most Pf{/rrﬁ
I; ﬁ ‘_“ éO U/ 4 pl; - (.{
H( p{()dt/m/ - TC FO/ L ; L/EO yo
vy l ¢ C’ad« wa’{luoz 9@ 2 ’mPﬁ*ﬁ O
o s,
G fG = {?, }L{l{ "J 0/1/ P{ : r""l? Q ][fm n mﬂ{w{

[vf” mjﬂma IM{/ ‘}/th@

L sy

l
N
"\TQ
r
~
—~D




(b) (5 points) What will be the profits of each domestic headband producer? What will
. be the total profits earned by firms in the U.S. domestic headband industry? Assume,
~4 ) for now, that the number of domestic producers remains fixed at 49. Illustrate your

N
answer with two diagrams: one showing the profit-maximization decision of an individual 5 Q
domestic firm, the other showing the entire U.S. headband industry.
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(¢) (2 points) What do you predict would happen to the U.S. domestic headband industry
in the élg run?
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(d) (3 points) Suppose the U.S. government passes a dramatic new trade bill, the Sweat-

\  Trapping Headbands Industry Protection Act of 2009, Ww
@ made head- bands. If the number of domestic headband produ ins fixed at
49, what will be the new market price of a headband" How many headbands will be

purchased in the U.S.7
/
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(6 points) What will be the profits of each domestic producer after the new law is passed?

& () \ hat is the total increase in profits in the domestic headband industry as a result of

is new trade law? Depict graphically the change in consumer surplus for headband

buyers in the United States as a result of this policy as compared to your answers in (a).
Under which scenario will consumer surplus be larger?
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(£/(6 points) Assuming that the law described in (b) remains in force, but that there is free
entry and exit in the domestic headband industry over time, what do you predict will
be the long-run market equilibrium price? How many sweat-trapping headbands will be
sold in the U.S.? How many headband-producing firms will there be in the U.S. in the
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(g)l/(’{points) Suppose that instead of the bill described in (b), the U.S. government decides
to pass a less extreme law, assessing a t% tax on all imports of foreign headbands. How
large must t be (5%? 10%? etc.) in order to ensure that the 49 existing domestic

producers can remain in business in the long run?
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END OF .EXAM
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14.01 Exam 3 Fall 2009

Question 1: True/False/Uncertain (16 points)

In this section, write whether cach statement is True, False or Uncertaint. You should fully
explain your answer, including diagrams where appropriate. Points will be given based on
vour explanation.

(a) (4 points) Decreases in interest races should lead to inereases in higher education atten-
dance {all else equal).

(b) {4 points) In insurance markets. risk based pricing is an example of third degree price
discrimination.

() (4 points) There is always a first mover advantage in sequential games.

{d) (4 pionts) Increasing income taxes will lead to a decrease in labor hours supplied as
crnplovees receives less money {(alter taxes) for cach hour they are at work.



Question 2 (10 points)

Player 2
H L.
H {(x. 4) (3,10)
Player 1
.7 2. 6) (x, 20)

{a) {3 points) For what values of 2 does Player 1 have a dominant strategy? Which strategy
for Player 1 is the dominant strategy?

{(b) (5 points) Under what conditions on a is (L.L) a Nash equilibrinun? What about (H. F



Question 3 (14 points)

Assume that a pharmacentical monopolist has already developed a new drug that has a
warginal cost of 0. 1t faces the [ollowing demand cnrve:

Q = 1000 — 2P

{a) {4 points) Determine the quantity. price. and profits of the monopolist.

{b) (4 points) The govermmnent decides to buy the rights to produce the drug from the
monopolist, and maximize social welfare. What does the government need to offer the
monopolist to buy these rights? What price will the government set for the drug?



{¢) (6 points) Asswume that the monopolist has two separate plants, where MCy(y) = 100
: g B , 2 .
and MCa(q) = ¢°. Determine the total quantity produced by the monopolist, as well as
how the production of that quaniity is split beiween the two plawnts.



Question 4 (10 points)

Lyndon has a utility function {7(S. N) = 5- N2, where S is his consumption of “stufl”, and N
is leisure. Lyndon divides all his time cach day {24 hours) beiween working in a lab (L) and
leisure (). His job in the lab payvs §12 per hour and the price of "stuff" is $1 per unit. In
cach of the cases below, Lyndon is free to choose the number of howrs he works each day and
he maximizes his utility.

{a) (3 points) How many hours does Lyndon choose to work each day at his current wage?
What is his income?

(b) (3 points) Lyndon gets fired. but immediately finds another job in the student cafeteria
that payvs 88 per hour. How many hours does he work now? What is his income?



{¢) (4 points) MIT decides that every student employee should have a minimum income of
$100 per day. If Lyndon earns less than 5100 per day, the linancial aid office gives him
the difference. How many hours does Lyndon work now at his new job in the calereria
fromn {b)? What is his income? Illustrate yvour answer using a diagram including his
budget constraint, appropriate indifference curves and the munber of hours of leisure.
Put leiswre on the x-axis. Your diagram does not need to be drawn to scale.



Question 5 (10 points)

As a manager at PDV Projects yvou can choose among the following investiment projects:
Project 1 requires an investment of S10.000 in 2010 and pays out $11.000 in 2014.
Project 2 requires an investment of $8,000 in 2010 and pays out $1000 in 2011, $2000 in

2012, and $4000 in 2013 and $5.000 in 2014,

Project 3 requires an investment of $8.000 in 2010 and pays out $3.000 in each of the years
2011 to 2014,

The interest rates for borrowing [or each of the three projects are different {the bank can
track vour investments and mounitor how you use the loan). The interest rates for each project
are:

Project 1: 15%

Project 2: 15%

Project 3: 12%

All investments and pavouis oconr at the start of each vear.

(a) {5 points) Write the formulas for commputing the net present value ol all three projects.
No need to actually caleudate the value,

{(h) (5 points) Without making any calculations. which project has the highest net present
value? Why?



Question 6 (20 points)

Suppose there are two consumers for good X: H and L. Define their respective demands by:
Qup=5-r

and
Qr=3-10

The producer of good X has monopoly power and his marginal cost is given by ¢ = 1.
{(a) {6 points) Suppose the producer cannot distinguish between consumer H and L and sets
the same price for the two. Whart is the optimal price set by the producer of good X.
the quantity sold at that price and the producer’s profit? {Hint: both consumers will

demand a positive amount at the optimum).



(b) (6 points) Suppose that the producer uses a two part tarriff with an entry fee M and a
unit fee p. What are the profit-maximizing values of (M, p)? Give an intuition.



{¢) (4 points) Is the producer better off under the pricing rule from (a) or (b)? What about
the consumers in each group? Given vowr answer, relate it to a real life example of two
pavt tarifl pricing.

{d) (4 points) Would the producer be bhetter off if he could diseriminate between the two
types of consmmers? Why? Which tyvpe of discrimination would he start? Explain. (No
math needed).



Question 7 (20 points)

The market for widgets is a Cowrnot duopoly. The market demand for widgets is given by:

() =120 — 2P

where @ is total output {Q = Q1 + Q2. the sum of firm 1's output, @y, and firm 2's output,
(22). Lach firm has a constant marginal cost of 0 of producing widgets.

{a) {4 points) Suppose that the two firs choose output cooperatively in order to maximize
joint profits. What is the resulting total output and price for widgers? What are the
resulting profits for cach firm. il they choose the same output?



(b) (4 points) Suppose that firm 1 decides to defect from the cooperative agreement you
found in pari {a). What quantity € would firm 1 choose to produce if firm 2 continmues
to produce the agreed output from part {a)? What are the resulting profits for finn 1

and firm 27 Given these results is the cooperative agrecment in part (a) sustainable?



(¢) {6 points) What are the Cournot Equilibrinm {simmultancous move game) ontput levels
(21 and @9 for cach firm. and the resulting market price P and firm profits?
A ¢2 5 ] |



{d) {6 points) Suppose now that firm 1 can choose its output level @ before firm 2 chooses
Q2. What are the equilibrium output levels Q1 and Qo for cach firm and the rsulting
market price P and firnm profits?
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14.01 Exam 3 Spring 2009

1. (5 minutes) Which of the following two observations is an example of moral hazard?
(A) Drivers who have car insurance tend to drive less carefully.

(B) Drivers who are at hugher risk of an accident are more likely to buy car
insurance.



2. (5 minutes) In the payoff matrix below, Roger has three strategies {U,M,D}, while

Jesse has two strategies {L,R}. The first number in each cell is Roger’s payoff, while

the second number 1s Jesse’s payoff.

Jesse plays L Jesse plays R
Roger plays U 4.5) 2,4
Roger plays M (3. 2) (3..1)
Roger plays D (2.4) (1,5)

What is the Nash equilibrium of this game? (Hint: What strategy will Roger never

play?)




3. (5 minutes) Tal can choose between two assets:

Asset #1 has zero income during time periods =0 and / =1. Beginning in time
period 7 =2 and continuing forever, Asset #1 has constant income y, per time
period.

Asset #2 has zero income during time period 7 = 0. Beginning in time period
t =1 and continuing forever, Asset #2 has constant income y, per time period,

where v, < y,.

At what interest rate » will Tal be indifterent between Asset #1 and Asset #2? (Your
answer will be a formula that depends on v, and v,.)



4. (5 minutes) There are two types of consumers of server computers:

Type-A consumers have a high willingness to pay for hard drive capacity, and
also have a high willingness to pay for memory.

Type-B consumers have a Jow willingness to pay for hard drive capacity, and also
have a Jow willingness to pay for memory.

Explain whether the following statement 1s True or False: “A monopoly producer of
server computers will make higher profit by bundling hard drive capacity and memory.”



5. (5 minutes) Chia-Hui’s Factory produces steel according to the total cost function
TC(v) =2y, where y is the output. Unfortunately, steel production causes air
pollution, which results in a total external cost £C(y)=y*. The market demand for steel
i1s perfectly elastic at the price p=12. What is the socially optimal output of steel? If

the government wanted to induce Chia-Hu1’s Factory to produce the socially optimal
quantity of steel. what tax ¢ should 1t impose on each unit of steel produced?



6. (5 minutes) Nirupama works for Big Bank. Nirupama chooses between consumption
C and leisure R. There are a total of 24 hours in a day, so that Nirupama’s supply of
labor is L =24 — R. Nirupama’s wage rate is w dollars per hour, and the price of
consumption is 1. Nirupama’s utility function is U (C,R)= CR. Derive Nirupama’s

supply of labor.



7. (10 minutes) A monopoly faces a market demand Q = 60 — P and has a cost function
C(Q)=0Q". Calculate the following quantities: the profit-maximizing price; the profit-

maximizing quantity; and the deadweight loss due to monopoly pricing.



8. (20 minutes) All the individuals in a large city have an independent risk of having a
very serious illness that will cause them to lose all their wealth. There are two types of
individuals: high risk (H) and low risk (L). High-risk individuals have a probabulity

2 : . . i o L e
B — = of having the disease, while low-risk individuals have a probability p, = = ot

having the disease. Each individual knows his own risk type. All individuals have initial
wealth W, >0 and utility function U(W) = JW . Aninsurance company cannot
determine who is high-risk or low-risk. It offers full coverage against the loss of wealth
in the event of illness, and sets the insurance premium to break even. The proportion of
low-risk individuals in the population is equal to ¢, where 1= ¢ 20 . Determine the

range of values of & tor which low-risk individuals will choose to buy the insurance
coverage.



9. (20 minutes) A monopoly tennis club may charge an initiation fee F per member, as
well as a price p per hour of court time. The club has no fixed costs and the marginal
cost of court time 1s zero. There are two types of potential members: 100 upper-class (U)
individuals and 100 middle-class (M) individuals. Each upper-class individual has a
demand function g, =4 — p, where ¢,, 1s the number of hours of court time. Each
middle-class individual has an analogous demand function ¢,, =2 — p. The club must
charge the same 1nitiation fee and the same price per court time for all members. What
are the profit-maximizing values of F and p?



10. (20 minutes) Two firms, named Leader and Follower, are the only producers of fish
oil, which is a homogeneous product. The firms play a two-stage, sequential game. In
the first stage, Leader chooses the level of advertising A for fish oil, while Follower does
not advertise. The cost to Leader of advertising at level A is equal to A°/24 . In the
second stage, Leader and Follower engage in Stackelberg competition, in which Leader
chooses the quantity vy, of fish oil that it will produce, and then Follower chooses the
quantity v, of fish oil that it will produce. In the second stage, the market demand curve
is p=A—y,where p is the price of fish oil, and where y = v, + v, is the total output of
fish oil. Both firms have zero marginal cost of production of fish oil and, aside from the
costs of advertising, there are no fixed costs.

a. Assume that Leader chooses level of advertising A 1n the first stage. Determine
the outputs v, and v, m the second stage as a function of A. Determine the
profit of Leader in the second stage, exclusive of advertising costs.



b. Determine the profit-maximizing level of advertising chosen by Leader in the first
stage.



11. (20 minutes) Brandon’s Farm employs unskilled laborers to produce food. The Farm
is the only employer of unskilled laborers in the province. The Farm’s production

functionis Q = 67/ , where Q is the quantity of food and L is the labor input, which is
measured in hours. Brandon’s Farm sells food at a price p =1 in a competitive product
market. The supply of unskilled labor in the province is given by L (w)= 4w” , where w
denotes the hourly wage rate.

a. Suppose that Brandon’s Farm is a price-taker n the labor market. Determine the
Farm’s demand for labor L, (w) as a function of w. What will be the

equilibrium wage rate w* for unskilled labor? What will be the equilibrium
quantity L* of unskilled labor? (Hint: For your information /1.5 =1.225)



b. Suppose instead Brandon’s Farm is a monopsonist in the unskilled labor market.
Determine the quantity of labor L,, employed by the Farm, as well as the wage

w,, that the Farm will pay.



¢. The government now imposes a minimum wage w_. =1.1. Determine the

nin

quantity of labor L that Brandon’s Farm will employ.
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14.01 Exam 3 Spring 2008

Question 1 (Chapter 10, 20 points)
Consider a monopolist with a cost function C(gq) = 8¢+ ¢>, tacing market
demand q = 20 — p.

a. (5 points) Find the monopoly’s profit-maximizing choice of quantity
and price.



b. (7 points) Calculate the deadweight loss of the monopoly.



c. (8 points) Suppose that the government wanted the monopolist to
produce the competitive equilibrium output. Would the government have
to tax or subsidize the production of the monopoly? What level of per-
unit tax or per-unit subsidy would the government have to impose on the
monopoly? Assuming that the government imposed such a tax or subsidy,
calculate the resulting deadweight loss.



Question 2 (Chapter 11, 20 points)

a. (6 points) There are two types of golfers in a town. There are serious
golfers who like to golf often. Each serious golfer has demand given by:
Q1 = 100 — P, where @) 1s the number of rounds of golf per year and P is
the fee for each round of golf. There are also recreational golfers, each of
whom has a demand given by: Q2 =40 — %P . Assume there are 80 serious
players and 10 recreational players in this town. The fixed cost of running
the golf club is $10,000 per year and the marginal cost of providing a round
of golf to a customer is $20. Assume that the golf club can distinguish
serlous and recreational players from each other and that the golf club can
charge only for each round of golf. What prices should the golf club charge
each type of player in order to maximize its total annual profit? How many
rounds of golf will each type of golfer play per year?



b. (14 points) Now assume that the golf club cannot distinguish between
serlous and recreational players. However, the club can charge the same
membership fee and the same price per round of golf to any player. What is
the profit-maximizing membership fee? What is the profit-maximizing fee
per round of golt? How many golters of each type will play?



Question 3 (Chapter 12, 12 points)

a. (8 points) Consider two firms both selling soap. Thewr products are
differentiated and they compete by choosing prices simultaneously. In par-
ticular. the demand tunctions for each firm are:

@ .= =R b
Q: = 12-2P+ P

Let marginal costs equal 0 for both firms. Both firms have no fixed costs.
Determine the price that each firm will charge in a Nash equilibrium.



b. (4 points) Suppose that firm 1 sets the price of its soap first, and
then firm 2 sets the price of its product second. After the two firms set their
prices, there can be no turther price changes. Determine the new equilibrium
price for each firm. Explain whether the following statement is True or False:
In comparison to the simultaneous-move game in part (a), firm 1 attains a
greater mcrease i profit than firm 2 because firm 1 can now move first.



Question 4 (Chapter 13, 8 points)

Consider the following two player game where the first number in each
box is Player 1's pavoff and the second number is Player 2's payoft:

Player 2
Lett | Right
Player 1 | - Top | 2.51.3,5
Bottom [4,a| b, 0

a. (2 points) For what value of b does Player 1 have a dominant strategy?

h. (3 points) Using the condition you found in part (a), what additional
conditions on a will give a unique Nash Equilibrium in the above game?



c. (3 points) Find conditions on the constants @ and b in the above game
such that there are three (pure strategy) Nash Equilibria.



Question 5 (Chapter 14, 10 points)
a. (6 points) A firm uses a single input, labor L. in a competitive labor
market to produce output g according to the production function

1

The output sells on a competitive market at a price of 540 per unit and
the wage is $20 an hour. Find the profit maximizing quantity of L and q.
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b. {4 points) Assume that everything in the above setup is unchanged.
except that now the firm is a monopolist in the output market. Explain how
this will affect the firm’s demand for labor in the input market.



Question 6 (Chapter 15, 7 points)

a. (4 points) Consider two perpetuities (bonds that pay out a fixed
amount of money each vear. forever). Perpetuity A costs $1,000 today.
but beginning at the start of next vear and for each year thereafter, the
perpetuity payvs vou $80. Perpetuity B costs twice as much. $2,000 today.
but pays out $150 every vear starting next vear. At what fixed interest rate
would a risk neutral individual be indifferent between the two perpetuities?
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h. (3 points) Firm 1 and Firm 2 both sell bonds in the bond market in
order to raise money for research and development. The bonds offered by
both firms have exactly the same payout stream. However, firm 1's bond
costs more than that sold by firm 2. Which firm’s bond has a higher interest
rate (effective yield) and why would anyone buy the bond with the lower
interest rate (effective yield)?



Question 7 (Chapter 17, 13 points)

Consider the market for used cars with two types: “Lemons" (cars with
problems) and “Peaches" (cars without problems). Assume that a seller
knows whether a car is a lemon or a peach, but a buyer cannot tell until the
car is purchased. Suppose that the reservation price of a peach is $6,000
to the buyer, and $5,000 to the seller. The reservation price of a lemon 1is
$2,000 to the buyer, and $500 to the seller.

a. (7 points) Suppose that buvers perceive that the probability of getting
a lemon i1s 1/2. What is the equilibrium price of used cars in the market?
What proportion of car sales are peaches?
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b. (6 points) Continue to assume the market conditions in part (a),
except that the probability of getting a lemon is now variable. Suppose that
Peter starts a business to sell used cars with warranties. In particular, he
buys all used cars in the market at $5,000 apiece (the reservation price of a
peach’s seller), and sells them at $6, 000, of which $1,000 is the cost of the
warranty. If the car is a lemon, he refunds the purchase price (that includes
the warranty), and resells the lemon at $2,000 without a warranty. Assume
that Peter 1s risk-neutral. For what range of probability of lemons is this
business profitable for Peter?



Question 8 (Chapter 18, 10 points)

a. (7 points) Fire alarm factories operate outside small cities across Amer-
ica. The market for fire alarms is perfectly competitive. The market demand
for fire alarms is P = 200 — 10Q). The industry supply curve (the horizontal
sum of individual firm marginal cost functions) is given by S = MC = 100Q).
The production process includes testing the fire alarms, which fills the sur-
rounding neighborhoods with a loud noise several times a day. This an-
novance has an ageregate marginal external cost to the neighbors equal to
MEC = 5@. Compute the optimal per unit tax on fire alarms to obtain the
social optunum.
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b. (3 points) Now suppose the government does not intervene. but the
residents are assigned property rights to a quiet neighborhood. Discuss the
outcome In a world with costless bargaining. Is this outcome likely to occur
in reality? Why or why not?
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